EARAROBEEIERT — 2 N— IBISH —F

201651 A5H (X) 1H=#1H

R A il

EZER

[RERBE] — | & (£) 12000 B

[A&4] 1 7% :5,000,000 @ 23 :2,000,000 ™ 33 :1,300,000 ™ 43 :750,000 5 7% :500,000 {
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
> # 3 | KOEtD 1:13.4 1-1 37.8| 8.6 | 2 538 | UEILITEHE (FEH)
11112 EF7oay 56.0 (=) (-g) |WLFR
LY I5E9R B:HI5 v T BEZ &y
N . JI| R HE :13. — . . BE—% (FXR)
2 7 YA T T IAN—IL 4 3 Al 1(11/32>5 2-2 37.7 | 84.7 1 (4+7f) P
LHIRT T BTy b B4 BlaA
. i3 | K2 1:13.6 4-3 37.7| 8.8 3 472 | BHAES (ER)
3|59 7VyHLA 54.0 (1/2) (1) | RR=
LTI RTLE— B AR v T F— BREH#E S/ 77— L4
N 2 4 3 | ENEME 1:13.8 9-6 37.5| 8.0 | 5 434 | BREBFIZ (RR)
4111 A 2TV —L4 54.0 (1 1/4) (-4) SHERE
R:VZRBZ—3IZR%2— B:.TYTEXT 1 — RABKS
D 4 3 | PEEX 1:13.9 7-6 37.7 ] 81.1 | 11 408 | AR (FR)
5 3| EX7vraAd 54.0 (7€) © | @) Fvesn.vxFa
LY IRGATIR BiN—L—~Ay X BEH%S
S A # 3 | D. ¥TF/— 1:13.9 6-5 37.7| 81.1| 6 492 | EKAE (RR)
67|14 B RUTW (og) | ) O—FF-2557
RV RYIJYZXIR B:LTFaNZ— BT AT — I
. . ERBZ . - FAESE (EXR)
7 5| A —a—NFINT i 3 o 1.(1:).6 14-13 | 37.7| 74.8 | 8 zzg()) mmg_
Leyr—2-U—-9 B:Uxr—%-IF> RARBHE
=% 4 3 | B2 1:14.9 2-3 39.1|73.0 | 7 462 | RBIEE (BR)
3 g|¥7/INT— 56.0 @) “10) WWOET
Libh—FKITNRS— B:Y2U7 Lakitie]
— N /INFATRIEIR 14, — . . LemKRE (ER)
9 12 FAILZAZY — 4 3 ENS (171;79) 9-9 38.4| 72.4 | 13 ig;t ’?’?EH&
RTYPAZIL R BiAt/ hIday PEF4ES
=, = 4 3 | =X 1:14.9 12-10  [38.2] 72.3 | 9 466 | HAEE (ER)
10/ 8|16 A-—T A x—2— 56.0 (747%) +12) =
L:rA7x B0 X K—-b AHME—FRT—T I
[N IO FAETBZ . - IROERI (ER)
1 6| YTINFZTY s 54.0 1(/71511? e %0 721 10 lzg? HFhE
o4 n BNt er s hA B=ivie]
S AT B 3 | BRE 1:15.0 11-10 [38.3| 71.5 | 16 | 426 |EREH#ASE (3R)
121815 A ¥ — AN A52.0 (74=) (+12) K78
L7 RYAVL—> B:AY—bEA—2 9> =re)
N N ZEBREA :15. - . . FEEEL (BR)
i NEIN-FE = 3 e 1(715t§) 12-13 | 38.3| 71.5 | 15 f:) nEr
R:xFA1zgr—2 B:g2L0/0—%— ERNHS
= 4 3 | HEER 1:15.2 15-13 [ 38.1| 69.6 | 14 | 402 |&NE (ER)
1417113 TAILF—ILTIL 54.0 (3/4) (g |TEES
L:hT714=2T BILN-42X EFH T
=, = 4 3 AT 1:15.2 15-16 | 38.2| 69.7 | 12 | 440 |MRERFZ (3R)
15 11| L7 TNTT7— 5.0 () g | WARS
R:4/>d—d— B:EE LTI /N
s s 3 | dERER— 1:16.6 7-10 40.2 | 60.0 | 4 470 | RHEET (RR)
16/ 5(10 FIHAAD v — 54.0 (9) (+10) | RHIER]
LG4 TATv— B hIHALIXTY— FEHIS
@ 71 L
) 49.7-37.8
NA>ZA L | 12.6-11.1-11.9-12.3-12.4-13.1
® I —F—@EBIERL
13=3r=
230—7F—
Gol=5r= 2(7,8) (6,9)14(3,10) (1,12)15(4,16)5(11,13)
40—+ — 2,7(8,9)14(6,3,1)12-(15,10,16) (4,5,13) 11
[ N3
BB 2 470 714K 2-7 430M e E 1-4 480M JEHE 2-7-9 2,350
8 B 2 130M 2-9 890M B = 2-7 1,120 B 2-7-9 10,590
7 150/ 7-9 530 B H 2-7 2,050
9 230M

ABICOVWTRDTEEERROODE. TR LIV,




